
Minusrechnen (bis 50 000)

Aufgabe 1

1. 40 560 - 40 009 =   

2. 46 979 - 37 856 =   

3. 47 925 - 17 407 =   

4. 44 513 - 25 168 =   

5. 23 932 - 13 115 =   

6. 37 538 - 13 447 =   

7. 36 874 - 6 818 =   

8. 47 779 - 20 397 =   

9. 33 193 - 20 998 =   

10. 49 344 - 36 517 =   

Aufgabe 2

1. 43 182 - 14 027 =   

2. 38 321 - 17 856 =   

3. 42 949 - 34 507 =   

4. 37 839 - 16 089 =   

5. 22 485 - 19 281 =   

6. 37 425 - 10 583 =   

7. 42 160 - 28 855 =   

8. 40 689 - 22 616 =   

9. 25 931 - 20 656 =   

10. 28 052 - 26 391 =   

Aufgabe 3

1. 43 928 - 9 268 =   

2. 27 929 - 23 351 =   

3. 35 683 - 5 460 =   

4. 41 776 - 41 211 =   

5. 22 496 - 18 248 =   

6. 13 634 - 10 320 =   

7. 29 135 - 22 558 =   

8. 47 549 - 16 844 =   

9. 31 969 - 24 998 =   

10. 43 517 - 40 623 =   

Aufgabe 4

1. 45 174 - 8 974 =   

2. 30 940 - 14 752 =   

3. 33 692 - 11 787 =   

4. 46 910 - 38 964 =   

5. 46 250 - 7 002 =   

6. 46 536 - 30 079 =   

7. 13 510 - 11 702 =   

8. 32 589 - 10 204 =   

9. 36 552 - 11 606 =   

10. 48 879 - 24 050 =   
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Minusrechnen (bis 50 000)
| ANTWORTEN

Aufgabe 1

1. 40 560 - 40 009 =  551

2. 46 979 - 37 856 =  9 123

3. 47 925 - 17 407 =  30 518

4. 44 513 - 25 168 =  19 345

5. 23 932 - 13 115 =  10 817

6. 37 538 - 13 447 =  24 091

7. 36 874 - 6 818 =  30 056

8. 47 779 - 20 397 =  27 382

9. 33 193 - 20 998 =  12 195

10. 49 344 - 36 517 =  12 827

Aufgabe 2

1. 43 182 - 14 027 =  29 155

2. 38 321 - 17 856 =  20 465

3. 42 949 - 34 507 =  8 442

4. 37 839 - 16 089 =  21 750

5. 22 485 - 19 281 =  3 204

6. 37 425 - 10 583 =  26 842

7. 42 160 - 28 855 =  13 305

8. 40 689 - 22 616 =  18 073

9. 25 931 - 20 656 =  5 275

10. 28 052 - 26 391 =  1 661

Aufgabe 3

1. 43 928 - 9 268 =  34 660

2. 27 929 - 23 351 =  4 578

3. 35 683 - 5 460 =  30 223

4. 41 776 - 41 211 =  565

5. 22 496 - 18 248 =  4 248

6. 13 634 - 10 320 =  3 314

7. 29 135 - 22 558 =  6 577

8. 47 549 - 16 844 =  30 705

9. 31 969 - 24 998 =  6 971

10. 43 517 - 40 623 =  2 894

Aufgabe 4

1. 45 174 - 8 974 =  36 200

2. 30 940 - 14 752 =  16 188

3. 33 692 - 11 787 =  21 905

4. 46 910 - 38 964 =  7 946

5. 46 250 - 7 002 =  39 248

6. 46 536 - 30 079 =  16 457

7. 13 510 - 11 702 =  1 808

8. 32 589 - 10 204 =  22 385

9. 36 552 - 11 606 =  24 946

10. 48 879 - 24 050 =  24 829
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